VASKAE| [VASPAR 2'-6" | DN50-DN150 | CLASS 150/300

High Temperature Trunnion Ball 3 Piece Up to 538°C (1000°F)

Valve dimensions

D
C @ i
- - @ Ball port
i i a
C1 J— ’ ——L
]
! B
A
5 ﬁ j =
oW
- E 1 -
\— 2 TxL Depth M SQ
F PCD
A D Weight kg/ib Kv/Cv
il i MsQ| PsQ TxL S
port | 150 | 300 | 150 | 300 150 | 300 150 | 300 | 150 | 300
DN mm 49.00 17800 (21600 189.00 10800 [250.00 (9400 |269.00 |150.00 |165.00 16.90 10 10200 | M10x15 127 31 400 363
2" inch 193 701 850 350 425 (984 (370 1059 591 650 067 402 | (4holes) g0 68 463 420
DN mm 7400 1203.00 (283.00 110150 |141.50 [277.00 [117.00 |301.00 |190.00 [210.00 21.90 1 12500 | M12X15 149 63 1125 952
3" inch 291 1799 1114 400 557 1091 461 1185 748 827 086 492 |(4holes) 108 1139 1300 1100
BINEGO0) mm 10000 1229.00 (305.00 111450 [152.50 [293.00 1139.00 |322.00 |230.00 |255.00 |26.90 14 14000 | M16xX15 72 % 2154 1860
4" inch 394 1902 1200 451 600 1154 (547 1268 906 1004 [1.06 551 (4holes) 159 212 2490 2150
DINEED) mm 15000 139400 (403.00 1197.00 |201.50 [362.00 1191.00 |400.00 |280.00 [320.00 '35.90 19 16500 | Mo2x25 (166 184 4723 4628
6" inch 591 11551 (1587 (776 793 1425 (752 1575 11.02 1260 141 650 |(A4holes) 366 1406 5460 (5350

148 | ﬂjHABONlM | HIGH TEMP.VALVES




.o ) i
vASKNE [VASpAR| 8'-12" | DN50-DN150 | CLASS 150/300 & i

High Temperature Trunnion Ball 3 Piece Up to 538°C (1000°F)

Valve dimensions

@)

all port

Weight kg/ib Kv/Cv

TxL

150 300 150 300
1\PLJ0) mm 201.00 (45700 [502.00 22850 (251.00 41600 21500 493.00 34500 380.00 54.00 346|378 9273|8737
8" inch 791 1799 1976 900 988 1638 846 1941 1358 |14.96 2000 197 1400 213 055 10720 10100
)\P2fl mm 25200 53300 [56800 266.50 284.00 50400 [260.00 581.00 |405.00 445.00 54.00 518 1639 15224 14792
10" inch 992 2098 12236 1049 (1118 1984 1024 2287 1594 |17.52 2000 197 1400 213 055 17600 |17100
1D mm 303.00 (61000 64800 30500 32400 59000 {30000 671.00 |485.00 520.00 63.50 723 1833 123096 |22404
12" inch 1193 2402 2551 (1201 1276 (2323 1181 2642 1909 |2047 0000 236 1800 250 071 26700 25900

HIGH TEMP. VALVES | C‘DHABONlM | 149




High Temperature Trunnion Ball 3 Piece Up to 538°C (1000°F)

Components & materials

Material Spec. ASTM

Qty.

Body Acc. Ordering Code 1
End Acc. Ordering Code 2
Ball Acc. Ordering Code 1
Stem Acc. Ordering Code 1
Seat Acc. Ordering Code 2
Seat seal Graphite 2
Seat ring Acc. Ordering Code 2
Body inner seal Graphite 2
Body outer seal Graphite 2
Upper thrust seal Ssteel 316/ Inconel 625 1
Lower thrust seal Ssteel 316/ Inconel 625 1
Seat Spring Inconel X750 16-48
Stem seal Graphite 1
Follower Ssteel 1
Ball bearing Ssteel 316/ Inconel 625 2
Ball thrust seal Ssteel 316/ Inconel 625 1

154 | K‘IjHABONlM | HIGH TEMP.VALVES

i

L .34

Description

Material Spec. ASTM

18 Body stud A193-B8M / A320 L7 8-24
19 Body nuts A1948M / A194 L7 8-24
L % Bonnet inner seal Graphite 2
P2 7.5 Bonnet outer seal Graphite 2
25 Upper stem bearing Ssteel 316/ Inconel 625 1
721,80 Lower stem bearing Ssteel 316/ Inconel 625 1
26 Bonnet S.steel / C. steel 1
27 Bonnet pin S.steel / C. steel 4
28 Bonnet bolts A193-B8M / A320 L7 4-8
32 Follower drive bolts A193-B8M / A320 L7 4-8
34 Iso plate S.steel / C. steel 1
35 Iso plate bolts A193-B8M / A320 L7 4-8
38 External trunnion S.steel / C. steel 1
39 External trunnion bolts ~ |A193-B8M / A320 L7 4-8

¥ Repair kit components




High Temperature Trunnion Ball 3 Piece Up to 538°C (1000°F)

Components & materials

Material Spec. ASTM

Qty.

Body Acc. Ordering code 1 15 Trunnion plate pin Ssteel / Csteel 8
End Acc. Ordering code 2 16 Ball bearing Ssteel 316/ Inconel 625 2
Ball Acc. Ordering code 1 17 Ball thrust washer Ssteel 316/ Inconel 625 2
Stem Acc. Ordering code 1 18 Body stud A193-B8M / A320 L7 16-40
Seat Acc. Ordering code 2 19 Body nuts A1948M / A194 L7 16-40
Seat seal Graphite 2 v &8 Bonnet inner seal Graphite 1
Seat ring Acc. Ordering code 2 P2 7.5 Bonnet outer seal Graphite 1
Body inner seal Graphite 2 25 Upper stem bearing Ssteel 316/ Inconel 625 1
Body outer seal Graphite 2 721,80 Lower stem bearing Ssteel 316/ Inconel 625 1
Upper thrust seal Ssteel 316/ Inconel 625 1 26 Bonnet Ssteel / Csteel 1
Lower thrust seal Ssteel 316/ Inconel 625 1 27 Bonnet pin Ssteel / Csteel 4
Seat Spring Inconel X750 68-76 28 Bonnet bolts ASTM A320-B8M 4-8
Stem seal Graphite 1 32 Follower drive bolts ASTM A320-B8M 4-8
Follower Ssteel 1 34 Iso plate Ssteel / Csteel 1
Stem key Ssteel / Csteel 1 35 Iso plate bolts A193-B8M / A320 L7 4-8
Stem key bolt Ssteel / Csteel 1 * Repair kit components

Trunnion plate Ssteel / Csteel 2

Description

Material Spec. ASTM

HIGH TEMP.VALVES | (EDHABONIM | 155




